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Semester 1 Final Review (Ch. 1-5) 7

Write the letter for the correct answer in the blank at the right of each question.

—7 - g”n - }
1. Find thevalueof5+4-3+6-1. & T2 Tl LA o
J+2~-) = 71/ & /)
AL B2 C. 6 B, -2 1.
2 5 5

ifa=5b=> = BV Hr5) _11*
2. Evaluate 2b(4a—c2) |fa-5,b-z,andC~11. ’?jéz A 71 5/ — 4 _

A , < \
3(20-/2) ) |
A. -303 B. 423 C. -6 D.-32 - 2. A
R 1Y),
3. Evaluate -|3c ~d|ifc=-landd=5 _ 5 3 -) -5 S(A0Z
/ i . \ .‘ ) / .
A 8 B. 2 C. -7 D. -8 > = — |-3-5 3 .
) . .
- \_al. ;
4. The formula for the surface area of a sphere is A = 4ntr’, where r is the length E 3] 0/
of the radius. Find the surface area of the sphere with the radius of 14 feet.
Useij-forn. J_/' /Jg; :,/V__!J‘ " /72’4} = 22,4
{ —':_‘;: { 70 =F
A. 7248 ft? B. 7744 ft*  C. 2464ft>  D. 704 ft’ 4. /
5. Name the sets of numbers to which -§ belongs.
A. naturals, rationals B. rational, reals ,»}
C. integers, rationals D. integers, rationals, reals 5. U
6. Simplify > (15x—9) 4 (25x+5). = 4 - 52200 ) - %~ 2
A. 10x-2 . 8¢ ¢ 52 D. 2 (40x — 4) 6. /}
3 15 5
7. Name the property illustrated by 5(x + y) = 5(y + x).
A. Commutative Property of Multiplication
B. Distributive Property )
C. Commutative Property of Addition oroér, /1
D. Associative Property of Addition 7. U/
SIS e A2
2 g 4~ —=rn/ >
8. 23=5—;m f 2/, /E F [
- Fa |
A =42 B. —12 C. =27 D. 42 8. e




-1zt ar 41X
9.18=3J4x—10] /Al TESZ
) i g 2
A. {1,-1} B. {1,4} C. {4,—4} D. {4} 9. I2
10.5(2x —6)=7x-3 JMx-70° 7x-3
Fx=z=21F 5
A -9 B. 9, /,~D D. ¢ 10.
= Lz i s ) ‘l‘a :75 ':‘\l
11. |x —3| +10=2 {%-5;- & ﬂ bly | | car L
A. {-5} B. {-5,11} C. {11} D. ®
12. Jamie is 4 years younger than her brother. Five years from now, the sum
of their ages will be 32. Find Jamie’s present age. +
9 B. 10 C. 13 D. 14 5 ) D 7 12
A. ; . L §,++6+r"?+~>"/" o
; Py
13. One side of a triangle is four centimeters longer than the shortest side. The —,5?&( . J. J= 9 )
third side of the triangle is twice as long as the shortest side. Find the length B ’ﬂ_; £ W/
of the longest side of the triangle if its perimeter is 40 centimeters. ’ - \
A. 9cm B. 13 cm C. 24cm D. 18cm Hys 13 b
, DHH+d 42 710 \
X — /18
14.0.38 > [G724-F = M ¥H7 “’;‘/ s g2
G 2% (fA4HE 4 1 =573 A
A. {x < 4.45} B. {x <985} C.{x<13} D {x < 3.69} 14. 4~
z s = _
15.9<7-x <-1 A= NT = o zxz B ble qeapt
S o o> Uy,
A {-2<x<8} B. @ . 3 W
F or
C. {(x<—2o0rx>8) D. {x < -2} ~ sz 72T 15 /
X £ or -3 '5
s;, /" by
16. 5x — 4 > 26 0r29 — 3x > 2 R v 29
e ey ﬁ/ AN 7 A ,'5'
A {6<x<9} B. {x<60rx>9} et A ﬁ ;/ A Al kY
6 7 A & & ¥
C. all real numbers D. {x # 9} 16. U |jnelnded
17. |2x - 3| <7
A. {x <5} B. {(-5<x<5}
A
C. {-2<x<5} D. all real numbers 17. A
_ ; e |
AkBET & Ak-dL A
o , - HA}
NS L ! =4 X . /
2%= 10
X 72

)

e



18.

19.

20.

21.

22,

23.

24.

23,

s o |
}VVH?) >4 -~ preald " means 0f
- i ] J
myzz4_ o Mt/ N

2lm+7| > 8 — T
4% s 3 o N
0 & il TN S
A {—11 < m < -3} B. All real numbers
N
C.{m < —13o0rm > -1} D. {m < —1lorm > -3} 18. )/
Identify the graph of the solution set of -2.3 <4 +0.9y. fé;j 4,','?,7 - \/ s D
¢‘:3 Pq ) - .
A Ot B. :
. =T-6-5-4-3~2-1 0 1, : - 012345678
C. oot} D s ,
012345678 —4-3-2-10123 4 A
)
)< - 1] ¥
One number is four times a second number. If you take one-half of the '

second number and increase it by the first number, the result is at least 45. __& 4 L) 7 45

Find the least possible value for the second number.
= v’ '8‘?_‘/ » b ;5—

I
A. 10 B. 9 C. 11 D. 12 2 Pz 20.
, 42 > 45
; . x“+3x-18 . .
Simplify % LR As:r.ume that the denominator is not equal to 0. ?; 240
- e v 2 10 E
x—-6 x+6 x—3 X =6\ o
— B L, — D AN / 21, _ 4

A. . : . i
x+5 x—5 x—-5 x+3 '—‘M

simplify /25p*¢? ¢ @%}L Y, (¥-50%°2)

n'\"\
A. 5|p?lq B. 5p°q C. +5p%g D. 5p°Iq| 22. L
Use a calculator to approximate Y160 to three decimal places.
A. 3.556 B. 12.649  C. 3.557 D. 5.429 2. _(
» ) A s
smplify VZ56cF 2044 tAt /j_é _jf_) .
A. 4t4t B. 16tVt C. +4t¥4t  D. 4t/4t 24. [‘f
SRR e L [3)_ W0+503 - Jg+5(3 I
impli \ - - { /
a [2=+3)( A +f3) H-2 SN

A. 10 +5v3 B.10—-5v3 C. -10-5V3 D. —10 + 5v3 25, .A



. Write the radical ¥m3 using rational exponents."f

5 3 //'
A. m? B. m3 C. ms D. m15 26. &~
y- ; <M -“\‘\
3 j / yia I Fi . \
t3 L77% et €%
. Simplify the expression -3 ' )
ts
1 19 3
A, t? B. tzo C. t20 D. tzo 27.
1
. A correct step in the solution of the equation (52 —1)3 —3 =1is_____ )
A 5z—1=43 B. (5z-1)—-27=1. /’*f ’,'
C.(5z—-1)-9=3 D. 5z—1=64 ji /= 49)7( 28. J
. Solve V3x+6—-1=5.
A x=20 B.—2<x<10 C.x=10 D. x=-2 29. /‘\/
. Simplify (15— 130) = (=1+170). /5 /30 +) /7« - 5. 2, -

A. 16 — 300 B. 16 + 4i C. 16 + 30i D. 46
14202+ 3a 3 +Tutlea” Zf.f'_:':,\
Stmpllfv_/'——.2 - 39[] 3 H-9.7 ) 3
v"u\
g , 1 ; 4 % g
A;-I';-?-l B.- + i C.-4+7i ‘D.—-1—3+§£ ] 31.
__.f:/ _ﬂ ){ ( ) ; ),‘\ 7
. Simplify (3x°y“f‘)(2x 733, 3)’ ; ‘ B &?)71 Ao\ J‘/ /_
o1y | F Y
6 6 = -
A B2 g 22X C. 24x° p, & 32. A
y y y . ; ;,._,:k_\
257 —4 )// ,,/__L,- )
. Simplify . Assume that no variable equals 0. /—/ 727~
8x6yz3 : /\
o il * vtz -
4x4z "t 6x4z7? " 4xtz7 0. 4x* 82, =

. Saturn is approximately 1.4 x 10° kilometers from the Sun. If light travels at approximately 3.0 x 10°
kilometers per second, how long does it take light from the Sun to reach Saturn? Express your
answer in scientific notation.

C. 47x10% D. 47x10%

A. 4.7 x 10% B. 4700s




G N V.Y
35. Simplify (723 — 222 + 3) + (x? — x — 5). T —X

e

A Tx3—2x2—x-2 B. 7x3 —3x2 -2

C. 8x5—3x3-2 D. 7x3—x%—x~-2 35. D

36. Simplify (5x — 4%, (bx-f 5x-2) ) = 26)° 29 x-20% +)le

A. 2516 B. 25X —20x+16 ~55 ¢ 7 1hysr + N
: e’ A
C. 25x*—40x + 16 D. 25x* - 18x + 16 36. (-
2
37. Simplify (6x3 — 16x% + 11x — 5) + (3x — 2). k’j‘if G -1 /] =
. T 4 - 2
2 _ PO [ 2 _ _ ol .
A 6x"—12x+3 - —— B. 2x*—4x+1- —— . E 2 3 (-2 g
- . 2 3.9 X E
C. 2x“—4x+1 e D. x*+8x -3 o 2}(}} ;?Jy +) 37
38. Which represents the correct synthetic division of (3x® — 2x + 5) + (x — 2).
A. z| g ~3 B B. —2| 3 -2 5 j'i] 3 0 -2 5
6 8 -6 16 N,
— e
3 4 13 3 -8 21 3 ( o 127

| . ] ; L
c_z’3061§5023025 38

20 -6 12 -20

3 6 10 25 3 -6 10 -15

39. Factor 27x* — 1 completely. (5 % w:X’ff ¥ 3 nt \:\

A. Bx—1(9x*+3x+1) B. 3x —1)(9x2 —3x—1)

c. Bx—1)° D. 3x—1)(9x%2-3x+1) 39. _A_
40. Write an equation for the line that passes through (0,5) and is p;railel _tpﬁthhg___lrife whose equation is

4x—y=3. n - -_;{;— =2 ..."’__\;;;;p,a“

A.y=-—i—x+5 B.y=4x—-3

c_y=i-x+5 D. y=4x+5 40. );’



¥ graph ol 4 y=

¥ 30}9 table fo checl yOInT) “V/ pints,

l1g jr;,f‘, F’)‘l

41. Which equation could be a prediction 2000

¥
equation for the data points shown in :gna
the scatter plot at the right? 1 433
‘ S 1200 o
@ 1000 o
= 800
A y=lx+400 B.y= Tx+650 * 600
4 5
400
: : 200 = - < .
C. y= 5x+600 D.y= Ex+800 ol 150 300 450 800 750 41. E
Hard Drive Size (MB)
, . arentest 1Nt
-3- ) _ / g ] ) . . . ) , .fffjfr",
42, Evaluate f (=)if f(x) = [1—2x] / /- 2(2 [-[]-L
4 / (5 | © gL 2
¥ — /‘
A. 0 B. -2 C. -1 b.d 42

43. Identify the range of y = [x| — 4. A

A{x >4} B. {y > —4}

C.{y =20} D. all real numbers

44. The graph of the linear inequality )@—-ﬁ;x + 2 is the region ?  the

2
graphofy = —Zx+2 less dhan or & el e

B
A. above B. below C. on or above D. onor below 44, L

s

45. Which point satisfies the inequality y < |—x + 3|? £ )"('2) +3 } Jf'ff—5 7

A. (3,6) B. (-2, 4) c. (s,7) D. (1, 4) as. |7

46. Find the range of the relation {(=2, 3), (-1,3), (-1, 5)}. Then determine whether the relation isa

. function.
HO)‘ - rv (—”"un on LAD \/ VA !{"’(;’

.fi }X\r/iﬁ :ﬂ.‘-cﬁ - A. {~2,-1}; function B. {—2,—1}; not a function :
n !_,, . D
F')!(*" ‘ Y[ - C. {3,5}; function D. {3,5}; not a function 46.

»{_‘?,

PR EIERE SR R )

A. -5 B. -3 C.1 D. 3 47. _&



48.

49.

50.

51,

52:

53.

54.

55.

56.

//'-v - 4
//fA’ -‘;o,-"
’\ ’C\/ﬂ) =t ~2a. - 2
e o

Find f(a) if f(t) = t?-2t-2.
A (t+a)>—-2t+a-2 B. t+a)®—2(t+a)—2

~
C. a®—-2t—2 D. a® —2a -2 48. l/

Which equation is linear?

§

A y>x—2 B.y=x*% C. =3 D.y2=~21-x+1 49,
Write 3y = —1 — 5x in standard form. ¢ Ry h??y’ = =]
A. 5x+3y=-1 B. =5x -3y =-1
C. y=—§x—-1 D. 3x+5y—1=0 50. A
Find the x-intercept and y-intercept of the graph of 3x — 2y = 12. /- // + =it
A. (4,—6) B. 4;—6 C. (2,-3) D. —6;4 Fr =20 51 ij 3(0)-3 /I
u — L . Pl . Y = )@ f / ! '
5% ;T)\ “Zy=)z
Find the slope of the line that passes through (2,6) and (—-7,8)‘:\,“___{_ _ ) C \/:‘_(j)
A, —~E B. —2 B, et p.-2 B /Z | s ¢

2 s 9 o2 ﬂ@/

What is the slope of the line y = —2?
horizonta) Vines have 5

A, =2 B. 0 C. D. undefined 'O Jlope 53,

A

What is the slope of a line that is parallel to the graph of 2x + 3y = 5? /7= ’—%Sip |

3 2 2 3 S ) a' ‘
A5 B = €= D =om ~_ ¥ 54 E

e L)
The graph of the line through (2, 3) that is perpendicular to the line with :57"
equation y = —1 also goes through which point? : —y
A. (0,1) B. (1,4) C. (2,-4) D. (=2,3) 55. L/
Write an equation in slope-intercept form for the line that has a slope of
—4 and passes through (1, 2).
A y=-2x+4 B.y=—4x+6 \}.;,J_))L«I—-b 56. 5
Cy=—4x+2 D. y=—-4x+9 2:—4(0”7

v=b

R



57. Write and equation in slope-intercept form for the line that passes through
(1,-2)and (3,7).

A. y=§x—"1§ B_y=§x_52_7
> —{-Z < 2
m= _7-(-2) _ :g (£
3~
.9 -13
J=3x+b (Y72 ar
7=U3)+b
~2% =
7-22=b
HM_ 27 -
Z-2 =L
_.—Zé -_,b



